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Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / STSIRPIZACH
farr ¥ fatvar Fafafea 7 3 33 slso vt &

1. Distractibility / T3€cTFaterer
2. Hyperactivity / 3ifaafsradr
3. Hallucinations / #AfIHH

4, Impulsivity / SFTeEITaCr
Correct Answer :-

« Hallucinations / #AfQ%H

2) Teachers must constantly deal with changing standards and in
teaching profession. / fﬂ'&iﬁﬂ-ﬂ', RYLTOT SIaETT F FIMAR deod ATAH 31T
& HIY T F&AT A1RTI

1. Syllabus / 9T&g-faavor
2. Curriculum /Wﬂ'ﬂﬁ'
3. Assessment / 3TTeholel

4. Exam system / 98T JOTTelr

Correct Answer :-

e Curriculum /Q'I'oqu

3) Piaget believed that language develops in a child as a result of: / TAITST &T ATAT AT %
I & o1 1 R, RFT F IRumATsT gar g

1. Cognitive development / GTcH TahrT
2. Egocentric development / 3TTcHhigd [derd



3. Behavioural development/Wﬁw
4. Environmental development /9aTaRofT faera

Correct Answer :-

» Cognitive development / TATcHS [aerra

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well
in her academics. Which of the teaching method will give more productive results for Mary? /

A aga el 1 8 v TR sRAeATEAH At § Afhe ag Ruan A wawsrers 3 g
urelt §1 78 & fore Fler &Y Rravor A 31 amervg gefie

1. Excursions /3HOT IT 3THIG

2. Brainstorming methods / amraer afer

3. Grade acceleration /ﬁ?ﬂ;&ﬁ

4. Individualized instructions /WQ&TUT

Correct Answer :-

« Excursions /STHUT IT 3THIC

5) The occurrence of is an indication of stagnation in the learning process. /

Y e, HRH B GRFaT & U #1 G B
1. Motivation / 3Tf#IOT

2. Plateau / ORI (Tela)

3. Progression / WaTfay

4. Curve /3% (Fd)

Correct Answer :-

« Plateau / FE2RTH (Telal)

6) What is the main objective of teaching in inclusive classrooms? / §HTGLf HaTat &
UG FT AET 35T FAT 87

1. Preparing students for job/ STAT Pl AldL & T IR FET
2. Preparing students to pass the examination / BTN I T I Flel & TolT IR el

3. Developing thinking power of students / BTAT &I IdeT ATFd FT fARRT FEAT

4. Providing notes to students / BTAT I AICH TSTed el



Correct Answer :-

« Developing thinking power of students / ©TaI $I ded AfFd &1 AT HLEAT

7) Development does not include changes that happen due to: / %™ & ¥ yRada afFafaT
a8 Y o AT F FRoT A ¥

1. Illness / STARY

2. Learning / 3f&rereT

3. Maturation / RYFadr
4. Aging / gerdr

Correct Answer :-

o Illness / START

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is /

“¥IrIadl A o 3R w3 (ARETH a¥E AF U3 3;30) F oRET F AQ SIS Gwor
ﬁqgwuw%-

1. Primary caregiver / IRTHe TS
2. Family / 9RaR
3. Parents / ATAT-TOAT

4. Teachers and peers / 18T i @reft

Correct Answer :-

« Parents / ATAT-TIAT

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not
receive his pocket money for a week. What type of parenting is this? / old Teh FTdT Helclel
e A EF AT TR i F wed iRV AR § F R &
fav 3@ se@d 7@ A g7 fFE yFR F1 arae-awor 32

1. Behaviourist / Eqm'la'
2. Authoritarian / Wla'
3. Authoritative / 3RS
4. Permissive / Hﬂm

Correct Answer :-

« Authoritative / TSR



10) Children with Autism are: / TFelleldT (3TfesH) ¥ NfzT =2 aa &

1. Unable to make eye contact with others. / E@Tf & I G T U Hlad H 3GAT
2. Unable to move about comfortably. / 3TRTH p= EI(:H?-T # 3rgHEY

3. Unable to fall asleep. / i o 7 gAY

4. Unable to follow instructions. / A& 1 T WA F 37T@AY

Correct Answer :-

« Unable to make eye contact with others. / Q\Q:R‘I F Y AT T 96 W H 33TqAYT

11) During stage of cognitive development, children acquire knowledge through
manipulating objects. /| HAACHS AHT & IHAEYT F NI, T2 aEqait F

FEF AT Iod FI

1. formal operational stage/ 3TaTRer AfshdTcA® aear
2. sensorimotor stage / GHITATCT ITEUT

3. concrete operational stage / Hﬁﬂw ST

4. preoperational stage / Ujﬂﬁﬁlm SARIT

Correct Answer :-
« sensorimotor stage / TAEAAC aEAT

12) Classical gestalt theory was put forth by: / FafAFa A¥eree U AT garr T frar
IGT 4T

1. Thorndike / ?‘I'\IIT‘T@'IW
2. Kohler/m

3. Piaget / fOamaY

4. Pavlov / drdeild

Correct Answer :-

13) One way of minimizing the effects of diversity is to allow the children to: / fAfatrar & ysma i
FH FA FT 0F alal gedl A e f sqafa & 8

1. Win over each other/ W—Q\Hi W g g1 et Fr
2. Operate in separate groups/ 3TeTdT-3TeTdT Q:I?:lff H FH FA Fr
3. Start small communities of their own/379eY TaT & BIC Hﬂ?ﬂﬁ GOl qw FLeT I



4. Socialize with each other/ W-qg:li & IIY Al Sl $r

Correct Answer :-

¢ Socialize with each other/ W—E@i’ & GIT AT F6led hr

14) According to Ivan Pavlov’s idea of Classical Conditioning, a particular natural response to a
stimulus becomes a conditioned response to another associated stimulus. Which one of the following
examples satisfies that theory?/ a1 Ulddld & FaTlAed AT F AR F HJHR, Th
Faee & AT e Ry ypfaw fafrar qay deqy saeem & v wF aere sfafsar oo
STt §1 fAefaf@a & @ Sl a1 eI 3§ Rguia A e LT 82

1. Children responding to the bell at school to indicate recess and associating it to happiness./ ﬁ?\}’iﬂ?ﬁl’ H
G dofel T Sed HGhIeT HT Heohd FASA ¢ AR 38 G & @y Sisd g

2. Children maintaining silence when the teacher raises her hand/ s freTer §TY 37T § ar 9T
godl 910 I@d £

3. Children expecting to receive medals by the end of a race/ als & 3id d& Y uIed el Fr
3FAIG @A dre S|

4. Children getting star stickers for the right answers asked in class./ & # Clﬁ T FET IR & fow
TR TEea 9red &l dlel d<d|

Correct Answer :-

» Children responding to the bell at school to indicate recess and associating it to happiness./ ﬁa:zl'l?ﬂl’ H
G Folel T STd IR HT Hohd FASA ¢ AR 30 T & @1y Sisd ¢l

15) According to Cognitivism, learning is defined as a change in the learners’ o
TATCHSAIG & HTaR, HATH A Rareff & # 9ged & T A g
ST g1

1. Behaviour / eTdg}

2. Schemata/ HAST (FhIATET)
3. Mindset / HTATERAT

4. Morals / #fde

Correct Answer :-
+ Schemata/ HdcT (THIATET)

16) According to Bingham, what does an aptitude test disclose? / e & AR, Hﬁqﬁ' qdiaTor
¥ AT g1 Tolar 82

1. The tendencies and capacities inherent in the individual's original constitution./ afdd & Hel EIHTT H
Afgd aTAdTe 3R ggfaar



2. The achievement in different dispositions./ ICIECo] H?IDET% IIgdT H 39l
3. The readiness to acquire proficiency and exercise ability./ FdTOTAT 3R 3 A Fr dea |
4. The strength of the different dispositions./ ICIECo HT:IDET@EF IEIAT T LT

Correct Answer :-

» The readiness to acquire proficiency and exercise ability./ AIuTAr 3R 318 el I deakdr|

17) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning

principle is evident here? / U ¥= $T G F AT A@RT AT 41| 37, gg F@oft @ar F @
¥ 7gl S @1 3w Rgyia Tose §?

1. Reinforcement / gﬂéﬂﬂ'

2. Spontaneous recovery / ¥dd: EFITIET—‘F—T

3. Stimulus generalization / 3¢gI9eh HTATATRITT
4. Stimulus discrimination / 38&I9e faAEHIOT

Correct Answer :-

« Stimulus generalization / 3819 HIHTTHIOT

18) Carl Jung’s approach for a personality assessment is:/ SqTFdcd Hidhelsl & AT Flel AT HT
gfemor %’:

1. Judging / GIE
2. Perception / HAgaT
3. Structured / EXRIT

4. Projective / gerdr

Correct Answer :-

» Projective / gedr

19) Which of the following is the term used to denote inborn patterns of behavior that are
biologically determined? / sifa® ¥ & AUIRT swagr & seawna deat &t g & AT
farafaf@a & & B aeg 1 39er fBFar Jrar 872

1. Arousal / 3diolel (TWI3Te)

2. Drives / Hedsile (3T3cH)

3. Instincts / ﬂ@%ﬁ'ﬂf (3Rea)
4, Incentives /| Toleel (SAUTEEH)



Correct Answer :-

« Instincts / HW (8Rcae)

20) Which of the following is not a part of the process of memory? / FFafaf@a & & sl @r
wfa # uftkar &1 Rear a8 82

1. Storing information / STTeTeh T TG el

2. Encoding information / STTeTehT{I AT HhcTehUT el

3. Acting on information / ¥dell G P FIAT

4. Retrieving information / STHHRI UT HRAT

Correct Answer :-
* Acting on information / AT T F FIAT

21) What substage of cognitive development is apparent when a baby learns to press the ‘play’
button on the iPad in order to play his favourite nursery rhyme? / HAATHS AP A i
N 39-3r9FYT TOSC Y &, SI9 U F=AT AU gHdET A9 Fiadr @S & fow rE-
Y3 W o Fe gar diaar 82

1. Coordination of secondary schemes / ATEITAS JISTAT3 HT FHead
2. Primary circular reactions / grafae ERLEARS EIGIERLY

3. Secondary circular reactions / HTEI A ERIEIRS CIGIER 1LY

4. Tertiary circular reactions / ] IRED ddlep} gfafshare

Correct Answer :-
» Coordination of secondary schemes / ATCTTHS ATSAATHT FT JH-GT

22) What age is a child the most impressionable? / fh¥ 3T FT T=aT FaH SAGT THTERATAT Erell

g2
1. 14 to 18 years / 14 {18 qY
2. 2 to 8 years /2@[86&

3.9to 12 years /99 12 9¥

4.6to 14years/6?f14aﬁ'

Correct Answer :-

« 6to 14 years/ 6 ¥ 14 a5



23) CCEis undertaken ./ _ 3*er fpar Smar g1
1. Four times a year / Ueh ¥ # IR IR

2. Throughout the year / a¥ 8 &

3. Periodically / §AI-HAT YT

4. Twice a year / Ueh a¥ & gl a1

Correct Answer :-

« Throughout the year / ¥ X &

24) Questioning in the classroom : / &Il H 9T HTET:
1. Develops inactivity / ITShaar AsfAd #ar g
2. Clarifies subject matter / TaST a&q FI TASC AT ¢l
3. Creates indiscipline / ﬁ?ﬁﬂ@ﬂ?ﬂ YeT LT gl

4. Is a waste of time / THT ST TaTAT gl

Correct Answer :-

« Clarifies subject matter / a9 a&] P TISC AT ¢l

25) Needs which grow stronger when unsatisfied are called: / W E’Iﬁ' T H\_:N'\T-T ﬂﬁ' CIG
ITTIHAT fAFT Hgard! &

1. Deficiency needs / HT ST
2. Primary needs / ITfA® ST
3. Growth needs / ac?\:@' TR

4. Being needs / 3T A&

Correct Answer :-

« Deficiency needs / hHT STEI

26) Who proposed the theory of observational learning? / W&TONR_T 3189 &1 ﬁa}n?r e
wedd

1. Ivan Paviov / 3T UTadid
2. B.F. Skinner / &I.U®. TThelX
3. Aaron Beck / IR 9



4, Albert Bandura / EIE\TI'

Correct Answer :-

e Albert Bandura / EE\TI'

27) A scoring guide use to evaluate the quality of students is called: / ST &Y
OTEAT FT HedThed I & fAT gEAATr T S aqTell T FHINFT 33 vt
FgaTdl 8

1. Checklist / dahferre
2. Rubrics / ®fsed
3. Rating scales / YT Thed

4. Inventories / SAdfeH

Correct Answer :-

. Inventories / 3AdfeH

28) Both pleasant and unpleasant feelings are associated with ./ LiLCLY
3R 3y St sraeTe ¥ eI 2

1. Double approach — avoidance conflict / aj% TTeehIoT - IRER dEY
2. Avoidance - avoidance conflict / qﬁ“&"l? - qﬁ%ﬂ gy

3. Approach — approach conflict / TTSeehIUT - T fScepror Ty

4. Approach — avoidance conflict / ETSEehI0T - TRER TEY

Correct Answer :-

. Approach — avoidance conflict / TTe&eIUT - TRER gy

29) Authentic Assessment is a form of assessment in which: / UTHIOTS 3lipd
3fipad BT ¥ U ¢ foraw :

1. Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. /WﬁWW%W@[WQ?WWW%’,
SiY 3T e FATel 3R hierer & Areieh HeTdNaT hY T Rl el &

2. Students results are compared to hypothetical average student / SIE]] *Wﬁ@'ﬂm
FleUlaie AT ST A R AT &




3. Student performance is measured against a fixed set of predetermined criteria or learning

standards / BT & Ue¥H &I gd Fuffkd amcs! a1 ¥haq & A & U Fid e & faudta Amn
T 8

4. Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to
instruction / T214Te BTAT T STTFAIT ATFAAT, FHSINRAT, 7T 31X TAETT T hlreT T Tgol
fraRa searg

Correct Answer :-

« Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. /mﬁaﬁmﬁwgﬁm%ﬁaﬁmﬁ%ﬁvmmﬁ
ST 31T #ATeT 3R hlereT o HTLeh 3TN T TG R &l §

30) Which of the following factors influences a child's success and failure in school

performance / FURITAd & 4 FI-91 RS ATy & uex= & 9= 91 IBAdr 3R AAGBAdT
P gUTfRId a1 22

1. Parental education background / HTaT-TUdT & fRref @t qgﬂi&r

2. Physical strength of child / T B IRIRD q\_l‘@fﬁ

3. Teachers contribution in learning process/m gfshar H fAeTer &1 IerereT
4, Social Influence on child's learning / T & AT R grEfie U

Correct Answer :-

o Teachers contribution in learning process/m gferar & AeTRr T IRTEA

Topic:- General English(L1GE)

1) Fillin the blanks with the correct option in the given sentence:
Most plant species are not adapt -- to a desert environ--.

1. --ive ... --ment

2. -- able ... -- mental

3. -- able ... --ment

4. --ion ... mentally

Correct Answer :-

e --able...--ment

2) Fillin the blank with the correct option in the given sentence:



A person of little or no importance is a --entity.
1. non--

2. trans --

3. uni--

4. dis --

Correct Answer :-

3) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

What helps fleas to jump very high?

1. They are naturally born high jumpers and take off like a plane.

2. They are not insects that jump very high but rather move very fast.

3. They have short front legs and very long rear legs and get ready to jump.

4. Their rear legs have huge thigh muscles and their joints have a protein that helps.

Correct Answer :-

e Their rear legs have huge thigh muscles and their joints have a protein that helps.

4) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas



are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

How is it impossible for anyone to detach themselves from fleas?
1. Fleas attach themselves to the skin of the animal.

2. Fleas have little spines that stick into animal fur like Velcro.

3. Fleas can jump very high and land on the same animal.

4. These insects are very clever and have a thinking mind.

Correct Answer :-

« Fleas have little spines that stick into animal fur like Velcro.

5) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

What helps fleas to emerge quickly as adults from being cocoons?
1. The eggs are large enough and can be seen without the help of a microscope.

2. They hatch immediately and transform themselves into cocoons.



3. They are warm inside their cocoon and can emerge as full adults after only a day.

4. They can identify warmth, movement and carbon dioxide in exhaled breath.

Correct Answer :-

e They can identify warmth, movement and carbon dioxide in exhaled breath.

6) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

Why are fleas considered impossible to defeat?

1. They can jump very high.

2. They run at an enormous speed.

3. They are well outfitted to feast on any animal blood.

4. They are too tiny to catch.

Correct Answer :-
» They are well outfitted to feast on any animal blood.

7) Read the sentence carefully and choose the option that has an error in it:

Which was the best of the two books?
1. best

2. Which was

3. the

4, of the two books?



Correct Answer :-

8) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10
days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every
station. He would only take his mail pouch with him. After completing 75 miles, the rider would get a home
station. It was tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore,
most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride
could be rough and dangerous as the native Americans attacked them continuously. The Pony Express was able
to fulfill an imperative need at that time.

Why do you think the rider of the Pony Express had to change horses every 10 miles?
1. The rider would get tired of riding the same horse.

2. The rider had to reach the home station quickly.

3. The horse was ridden fast and would get tired.

4. He had to take his mail pouch with him on the horse.

Correct Answer :-

e The horse was ridden fast and would get tired.

9) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10
days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every
station. He would only take his mail pouch with him. After completing 75 miles, the rider would get a home
station. It was tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore,
most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride
could be rough and dangerous as the native Americans attacked them continuously. The Pony Express was able
to fulfill an imperative need at that time.

Why did people rush to California in the 1860s?



1. Gold was found in the state and everyone wanted some.
2. The Pony Express was founded in the state.
3. It opened the way for new communications.

4. It was a place for new settlements.

Correct Answer :-

» Gold was found in the state and everyone wanted some.

10) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10
days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every
station. He would only take his mail pouch with him. After completing 75 miles, the rider would get a home
station. It was tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore,
most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride
could be rough and dangerous as the native Americans attacked them continuously. The Pony Express was able
to fulfill an imperative need at that time.

Why did the Pony Express begin?

1. Ponies were the fastest means of transport.

2. America had a lot of ponies and made good use of it.

3. There was no telephone or trains and no means to get or send news.

4. There were many wild horses roaming the countryside.

Correct Answer :-

e There was no telephone or trains and no means to get or send news.

11) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10
days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every
station. He would only take his mail pouch with him. After completing 75 miles, the rider would get a home
station. It was tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore,
most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride



could be rough and dangerous as the native Americans attacked them continuously. The Pony Express was able
to fulfill an imperative need at that time.

Give a synonym of ‘imperative’.
1. Trifling
2. Trivial
3. Crucial

4. Inconsequential

Correct Answer :-

¢ Crucial

12) Choose the appropriate tense to fill in the blank in the given sentence:

I the book that you lent me. I have got another 80 pages to read.

1. have been reading
2. has been reading
3. had been reading

4, am reading

Correct Answer :-
» have been reading

13) Fill in with correct determiner in the given sentence:

My brother does not drink coffee.
1. few

2.alot

3. much

4. many

Correct Answer :-

e much



14) Rewrite the following changing the active sentence to passive.

Seema informed me about her late arrival.

1. I has been informed by Seema about her late arrival.
2. I was informed by Seema about her late arrival.

3. I informed Seema about her late arrival.

4. About her late arrival, I have been informed.

Correct Answer :-

« I was informed by Seema about her late arrival.
15) Choose the right tag:

Add some more milk to your cereals, ?
1. would you

2. wouldn’t you

3. don’t you

4. do you

Correct Answer :-
+ would you

16) Choose the right tag:

He is coming here today, ?
1.isn't he

2.is he

3. has he

4, doesn't he

Correct Answer :-

e isn't he

17) Choose the appropriate prepositions for the given sentence:

A waterfall is a stream water that drops straight a high point.



1.in.. out of
2. of ... down from
3. of ... through from

4, for ... out from

Correct Answer :-
e of ... down from

18) Choose the appropriate antonym for the highlighted word in the given sentence.

There is a shortage of books at our library.

1. surfeit

2. paucity

3. opulent

4, undersupply

Correct Answer :-

o surfeit

19) Choose the appropriate conjunction for the given sentence.

Upendraistaller____ Arun.
1. that

2. till

3. though

4, than

Correct Answer :-
¢ than

20) Choose the appropriate option that rewrites the given sentence in its passive voice.

Anil bagged the best conduct award.
1. The best conduct award is bagged by Anil.

2. The best conduct award was bagged by Anil.



3. The best conduct award has been bagged by Anil.

4, Best conduct award was being bagged by Anil.

Correct Answer :-

» The best conduct award was bagged by Anil.

21) Choose the appropriate option that rewrites the given sentence in indirect speech.

Khushi says to Swati, "When are you going to Kanpur?”
1. Khushi asks Swati when she is going to Kanpur.

2. Khushi asked Swati when she was going to Kanpur.

3. Khushi asked Swati about going to Kanpur.

4. Khushi questioned Swati about Kanpur.

Correct Answer :-

» Khushi asks Swati when she is going to Kanpur.

22) Choose the appropriate tense to fill in the blank in the given sentence:

Yesterday while I in class I the hiccups. My friend told me my breath.

1. sat, got, to hold
2. was sitting , had got , to hold
3. was sitting, got, to hold

4. am sitting, got, hold

Correct Answer :-
« was sitting, got, to hold

23) Choose the appropriate synonym for the highlighted word in the given sentence.
It is important for a driver to have a valid Driver’s License.

1. significant

2. creamy

3. trifle

4, consider



Correct Answer :-
* significant

24) Choose appropriate articles for the given sentence:

Experts believe that by twenty-first century earth’s supplies of gas and oil will be
largely gone.

1. no article required ... no article required
2. No article required ... an
3. the ... no article required

4. the ... the

Correct Answer :-
e the ... the

25) Choose appropriate article for the given sentence:

___ Bibleis a holy book, which teaches us the way to live a good life.
1. The

2. No article

3. An

4. A

Correct Answer :-
e The

26) Choose an appropriate modal for the given sentence:

Harini is late. She have forgotten her way back to the new hostel!

1. should
2. can
3. shall

4. must

Correct Answer :-



27) Choose the most suitable pronoun for the given sentence:

A big pendulum clock! is what I want.
1. Those

2. This

3. Their

4. These

Correct Answer :-
e This

28) Choose the option that substitutes the given phrase appropriately.

The fear or hatred of books
1. Bibliophobia

2. Bibliophile

3. Bibliomania

4, Bibliography

Correct Answer :-

« Bibliophobia

29) Choose the option that best explains the highlighted expression:

She would go to the ends of the earth to save children.
1. to fuss around

2. walk with her children

3. to do everything possible

4. doing nothing possible

Correct Answer :-

¢ to do everything possible



30) Which of the following options best combines the given sentences?

Three people were injured in the blast. It took place yesterday.
1. The blast, yesterday, three people were injured in the blast.

2. Three people yesterday were injured in the blast.

3. Yesterday, three people were injurious in the blast.

4. Three people were injured in the blast that took place yesterday.

Correct Answer :-

* Three people were injured in the blast that took place yesterday.

Topic:- General Hindi(L2GH)

1) g4 3¢ fid e, W™ Ja= M|

g aufy 9 W, Y uRat gl |

Pgd "ed Jgrd f&gra fiera feea aforaral

W T A Hed g A7 S e arall

ITYd TR B U 19 YD T ¥y P 3<% IdIgd:
W - YU T GaTaard! Hi- A1 181 82

1. foverm

2. 3EONET

3. 4a8

4. G

Correct Answer :-

o foyem

2) Wgd 3¢ N 9T, TH Tl A0

HoAg dtordAfar HeT T, AT w4t geT ||

Fed dAed Jera @era Feaa Raa afoama)

m st F Fxa § A & wT

39T YGIIT Y YGH A qF AT oA FT Fw{ qaqBA:
U - 3T T A F4T §?



1. AMH
2.30d
3. 4g9¢
4.9

Correct Answer :-

3) |ed M AT 9T, TH Tl |

HoAg dtodAfa AT W, AT 4t geT ||

Fgd sed derad Raa Faa @aa afsaEal

st F Fxa § A & W @

39YFd YGIRT Y YGH A g AT WA FT F) qaqB:

WRA- ‘FEA...... ATNATT A ATy FHlY Iserw §2
1. 377faTeR

2. 398 & FIg &

3. e

4. GIATTSTS

Correct Answer :-

4) ®Ea 3¢ 9T 9e, T wa Ad|

HoAg dtordAfa der I, AT WA gET ||

Fgd dAed Jera @era Faa Reaa afoma)

st F wxa § A & wF

39AFT ISHA FT GGHT Al T AT TRA FT 3 T8
T T 9eh H AS-AIE F Al Fa §?
1.9y g

2. 3@ EarT

3.9 @

4. gHHT

Correct Answer :-



5) Wed 3¢ N 9T, TH Fell A

HoAg dtordAfa deT 9T, AT w4t geT ||

Fed dAed Jera @era Faa Raa afomma)

ot F Fxa § A & wF @

39T YGIRT Y YGH A qF AT WA FT Fw{ qaqBA:
ma-'mﬁmmw,mmﬁmlﬂﬂfmﬁﬂa%mwmwﬁaﬁam
FAFR §?

1. 39AT

2. ®9h

3. 3cHaT

4. Y

Correct Answer :-

o 3cHeT

6) Wed NS AT 9T, TH Tl |
Hﬂt_f?ﬁaﬂﬁrﬂammww’tmu
Fgd sed Jord Rzra Reaa @aa afsaEal
ol F wxa § Aaq & w7 qm

3YYFT ISIIA FT YGHT AT I AT TRA FT IR TS
e - qsrd Usg &1 7T FAT 82

1. SIfSr gl

2. #ioTaX gl

3. 88d gl

4. g glel

Correct Answer :-

7) WEd e 99 e, TH o Il
mf:hawﬁr#arw,mqﬁtmu
Fgd sed Jord Rza Reaa @aa afsaEal



w ol F Fxa § Aaq & w7 qm

3YYFT ISIIA FT YGHT AT I AT oA FT IR TS
weeT - feet F ¥ Fi A &1 wAErEh 76 372

1 IR

2. e

3. e

4. g

Correct Answer :-

. U

8) dlgd 3¢ Wi e, T ) ||
Hﬂg”maﬂﬁﬂaw,qumu
Fgd ded fera @era FAeaa Raa afaaa)
ol F wxa § Aaq & w7 ar

3YYFT ISIIA FT YGHT AT I AT oA FT IR IS
W - YA gehier e seq # 82

1. g

2. algT

3. gusferar

4. AT

Correct Answer :-

9) Wgd NS Wi UE, TA Fellr |

Hg Alerate d G, AT & qTT 1|

Fgd sed derd Rara Raa @aa afsaEal

Y il F Fxa § Aaq & w7 qm

39YFd YGIIRT Y YGH A g AT WA T I) qaABA:
g - Are#for T 82

1. el

2. Bl



3.9d4d

4. 987

Correct Answer :-

10) ¥ea e A ge, FH FAA A

#g At JT W, A9 & gT ||

Fgd ded Jsta Bsra PAea Bea afoama)

w ol F Fxa § Aqq & w7 aT
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WA - ‘FE......dATATT A R F Rraelr framsit &1 aofa frar 82
1. 9]

2. |1

3. 316

4, 9T

Correct Answer :-

11) Wgd 30 9T 9T, T Fdl |
Hﬂf?ﬁﬂ'ﬂﬁrﬂwﬂ,mmmu

Fgd ded fera @era FAaa Raa afag)

w ol F wxa § Aaq & w7 qm

3YYFT ISIIA FT YGHT AT I AT oA FT IR qABA:

W -5 aAle A FfA F FoOr F fFw w0 F wedia B g2
1. 9

2.1 q @IS T

3. |}

4. FTt

Correct Answer :-



12) Wgd 3 99 9T, T el |

Hg Alerate do I, AT & gTT 1|

Fgd sled dord Raa Reaa @aa afsaEal

ol F Fxa § Aaq & w7 qm

39YFd YGIRT Y YGH A g AT WA T I) qaABA:
9o -FT o W W & a& yror Ky §2

1. drem

2. STell

3. SAtelT

4. oflel

Correct Answer :-

13) Wgd 3 9T g, T i |

HIg Alerate d G, HAT & gT 1|

Fgd sled dord Raa Raa @aa afsaal

ot F Fxa § A & wT

39YFd YGIRT Y YGH A g AT WA T I) qaqBA:

Yo - FSOT & Wigel N W TGl A ITel TEA HAT Teller &) W@ 32
1. GoId gt Star

2. 39 A HIS QT

3. A0 TgTs W Feg AT faor

4, TAd oY I goadd

Correct Answer :-

14) dEd 3¢ 9T ge, TIH a1 Ad|

HoAg dtordAfa der G, AT WAt geTe ||

Fgd dAed Jera @era Feaa Raa o)

w ol A F3a § Aaq & §9 a1

39T YGIIT Y YGH A qF AT WA FT I qaqB:

U - ATE A ANADT T FaId AT 9T FIA HI FHgal g a -



1. AT ST ST &
2. AT AT ST &
3. AT Jelfehet B &
4, AR AAT FR S B

Correct Answer :-

o TR HAT T ST

15) ded 3¢ 9T ge, TIH o Ad|

HoAg dtordAfa de W, AT 4t geTe ||

Fgd sed derad Raa Faa @aa afsaEal

st F Fxa § A & W @

39T YGIRT Y YGH A g AT TR FT Fw) qaqB:
TR - ‘FEe..... AN’ FH FlT-u1 W §?

1.dR @

2. H%UT I

3.8 @

4. IR "

Correct Answer :-
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1. AT



2. GERTA T ATA
3. JeAS ATH

4, 3T A

Correct Answer :-

17) Srsfaa iR gk uras Ut A g A1 & TP TR $1 Rk firerar 1 39T sreft A ax AT
AP 3RT A ITH! g & aPa W UTG fhar 31 78 3afere fr oy gt R A 78| 39S R TH
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T Rig A U Y | I 9Tl JaP! al Th g gl

g & ugl fra

@l & gt fA=m|
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1. el

2. gford

3. 7Y

4, Qe

Correct Answer :-

18) TSI SR gER UTa Ui A g A1 & TP TR $1 Roreh firerar 81 391 Sreft 9 ax6w AT
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wE @ wgh e
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I8 A 919 A 91 G SR g B Yed a 3d 38 | FETHRG | GRIMR &1 St ofd 9 |1y fAumar e simar
g, 98 Wl UdieTe U # TP Fu1 €1 4TI 99 1Y BISd ¢ df Had dgl I7% THid P Rid B 3T AT

IUYa TEIR B TgH - U T Uy HT IR gd153:
W= - 0E | uE e o1 3TRra A 82
1. AT & AISAAT HATST g1 STl &

2. §cg-HT €9 AT S1ar gl

3. fAed-fAed & e & S &

4. fACE @ a1 AT 3id A Ah d A S gl
Correct Answer :-

o fAEE @ v AT 3a A el # e S g

19) TSI SR gER UTa Ui A g A1 & TP R $1 Roreh fBrerar 1 391 sreft A axaw AT
AP 3RT A ITH Tg F aHd A I1e fhar 81 a8 i fF v Righ wR A 33| 39T FRUI TH
TS HT1 YT T8 & AW A Th aR TP °91d Fl [oRTI I8 A 39U gahIRd §U¢ $gl- 'g¥ 8l o Tig P’
EATH W Fl DI el THST ST 81 T A ITD! PR AP oarq fear- T & s weff S e §, 7 q9
U TS A S 81| T 9Te e ol TP & B

7gt & wel e

@ & gt i
frad fPa o 8,
P9 g ugAI

I8 A 99 A 91 G SR g B Yed a 3d 38 | TETHRG H gRIMR &1 St ofd 9% a1y fAuTar ek e
8, 98 W ufteTare U o ua $u1 € U119 914 BiSd T ot Had a8t SId TPHid DI Aid B @7 AT

ITYad TR BT UgHR -1 I T UY BT IR 9a133:
U - "ged’ g drf 7 g ?

19

2. Teh el

3.8 fea

4. guf

Correct Answer :-

20) STsfaa iR gOR UTaH U4 § g AT & TP TR &1 R frerar 81 39T et A ax AT
AP 3R A IH! Ig & aha A TG fHa1 71 98 9T f ey Right R A4 B | 3991 FRUT T
TS T Y11 g & IATHA I U OR U 919d $l [oRT I8 = 39 gpRd g¢ Hgl- 'g¥ &l off ¢ v’
SEATH W Hl DI el THSAT AT 81 T A IAD! PR AP oard fear- T H o el S e §, A g9
T g A 9 Y | I 9Tl JaP! al Th g gl



wg & wel e

@ & gt =i
frad fpan B 8,
FA B g
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8, 98 W uftTare U o uer F1 € Y11 9 914 SIS T ot Had a8t 9 UPHid P [id B T AT

ST T BT UgHR -1 T TT UY BT IR 9a133:
7 - 9l Fl AT s arar e § 2

1. SEITH

2. WA

3. QIR

4. Srsfaer
Correct Answer :-

o QUHIR

21) SIsfaa 3R gER UTaHT Ui ® g A & TP PR HT orep freran 81 ST 3Ryedt A1 A% o
AP 3RT A AP g & aPa W TTG fhar 31 98 3wfere fr oy it R 4 38| 39FT FRUT TS
SO U1 Y11 g & ATHA | U@ OR TSP 919d Tl [oRTI I8 39 gPRd g¢ Hgl- 'gY &1 off g Fav’
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wgl 9 wel fa

@ & gt =

foadi fram a1 ¢,

FA g ugEHII

I8 A 99 A 919 G SR g B Yed a Jd 38 | TeTHRd H gRIMR &1 S ofd 9% |1y fAuTar e s
2, 98 W ufteTare ¥ o ta $1 € UT| 9 914 BISd T o Had a8t SId UPHid I [id B &7 AT

ST TR B UgHR A1 ID T Y BT IR ga133:
U= - GRIMR & THId HI B ATd B &7 UT?

1. faE

2. ATdT-foar

3. ST

4, §OR

Correct Answer :-



22) STEfaa iR g UTaH U4l W g AT & TP TR &1 vk firarar 81 39T et A axw AT
AP 3RT A ITH Tg F aHd A I1e fhar 81 a8 I fF v Righ wR A 33| 39T FRUI TH
SO T Y11 g & ATHA | T OR TP 919d Gl ToRTI I8 = 39 GPRd g¢ Hgl- ‘g 8l off g P’
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wgt & wel faa

@ & |t fr=m
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&9 g g
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8, 98 W ufteTare U o ua o1 € U119 914 BISd T dt Had a8t SId TPHid DI Aid B &7 AT

IU TR B Ugh -1 YD T UY BT 30 Id153:
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AP 3RT A ITP g & aPa A UTG fhar 31 78 39fere fr ey Rt R Ad 78| 39HT FRU TS
TS T Y11 g & IATHA I TP OR TP 919d Fl [oRT| I8 - 39 gpRd g¢ Hgl- 'g¥ &l off g Fav’
EATH W Hl DI el THST AT 81 1 A IAD! PR AP 9ard fear- T i welf S e §, 7 q9
Tt U¥ie T 9 811 991 T Heh dl TH g gl

wE @ wet o

@ & gt i
frad a1 8,
&9 g ugAr1

I8 A 919 A 91 Gt SR g B Yed a 3d 38| TETHRG | GRIMR &1 St ofd 9% |1y fAumar e s
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1. dJesTa

2. fagelr
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4, A

Correct Answer :-

. facel

24) STEfaa SR gER UTaH U4 | g AT & TP TR &1 vk firaar 1 39T sreft A A% AT
AP 3RT A IAP! g & aPd W UIG fha1 31 98 3wfere fr oy Rt wR I 38| 39F1 FRUT T
SO U1 Y11 g & ATHA I T OR TP 919d Gl ToRTI I8 = 39 gPRd g¢ Hgl- ‘g 8l off ig HaI’
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WS @ wgh o

@ & |t f=m

frad fram P19 8,
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8, 98 W ufteTare ¥ & ua o1 € U119 914 BISd T df Had a8t SId TPHid I Aid B &7 AT

ST TR BT UgHR -1 I T UY BT IR JaT33:
U - Srsfoa T g ?

1. 4T AS T

2. GHATTSTS Ty

3. Teleliider I

4, 3T g

Correct Answer :-

o UIfAS T

25) Srsfad iR gaR UTad U4l § g AT & TP TR 1 Rk frear 81 39T sreft A aw AT
AP 3RT A IAH g & aPa W UTG fhar 31 78 3fere fr ey gt R A T8 | 39S R TS
WAt HI1 UTI I8 & A A TP IR U Urd o1 o1 T = I gepRd §Y Pel- "¢ &l o 7ig pr’
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U - 78 A T B Tl ghRT 2

1. FAIfH FEAH A Fal T aTear FHST AT ¢
2. Fifeh Fell 3o¢ IC T@T AT

3. Fifeh el el 2AT|

4. IR Fell STCHAT T

Correct Answer :-

o Fifh STATH H gu'li FI el THST ST ¢l

26) STsfad 3R gy uraH Ul & g A0 & TP WraR &1 fores firaar 81 39971 SRyd! A1 A= o7l
AP 3RT A ITP g & aPa A UTG fhur 31 a8 39fere fr ey it R A T8 | 39S R TS
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Correct Answer :-

o HAGIAT FT

27) STEfaa iR gER UTaH U4 H g AT & TP TR &1 vk firaar 81 39T et A A% AT
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s oo 3,



9 g UgaHI|
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Correct Answer :-

. e
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Correct Answer :-
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Topic:- Science (SCI)

1)
Find x, v and z representing the number of moles of the reactants and products in the skeletal
equation given below: [/
o fgU 0 9T AT GHEEOT A TSRS 3R 37Tl & aAOET HT qEr &

wfafEfce &=a g x, v 3R z 7T =46
FesO; + xCO = vFe +zCO:

1.x=1,y=28&z=1
2.x=3,y=2 & z=3
3.x=2,y=3,& z=2

4.x=4,y=3 & z=4

Correct Answer :-

2) Thick layer of fat called blubber is found in: /
sy ATHF a1 HT A WA a8 =Y Fredt &
1. Whale / cgol

2. Polar bear / §[dT &

3. Camel /WR

4. Shark / I

Correct Answer :-

« Whale/ cgof

3) What happens when a sound wave is propagated through a medium? /
Ifg eafer a¥er v Areww & ywia @), ar #=4r @ar §?

1. The particles of the medium move perpendicular to the direction of propagation of the wave.
/

ATETH & T, dET & JAR T AT & ddad TAHART gl gl

2. The particles of the medium remain in the state of rest./



AT o HUT [GHTATTEdr H B &l
3. The particles of the medium make to and fro motion about their mean position./

HATETH & HUT, 3oTchr AT TATT & AT TER3WR- 1faiier g £
4. The particles of the medium are also propagated. /

wegH & U i TG 8id B

Correct Answer :-

 The particles of the medium make to and fro motion about their mean position./

HATETH & 0T, 390l ATET FTATT & FHT TRER- arfaeiier 8a g1

4) What are the common fishes selected for pond culture systems? /

drere gade yonfadt & foe gafaa @ 1§ g Aofear sla-d §2
1. Sharks and rays / & 3R Y

2. Sardines and mackerals/FlT%T-f 3T FHawor

3. Mullets, bhetki and pearl spots/?l-_q?lw, fedhr 3R gor TWie

4. Catlas, rohu, mrigals, common carps and grass carps / hcdll, flg’, HdTel, HIHT Fa 3R
I FHIT

Correct Answer :-

» Catlas, rohu, mrigals, common carps and grass carps / <hcdl, flt(;’, HdTel, HIHT Fa 3R
I FHI

5) The phenomenon responsible for the twinkling of star is: /
aRl &Y feAfeAEe & AT 3R gear ¢

1. Dispersion and reflection / 98N 3R Wad=

2. Reflection / IRTddl

3. Atmospheric refraction / W 3qadel

4. Dispersion / YR

Correct Answer :-

« Atmospheric refraction / a@ﬂm qad

6) Which one of the following diseases is almost eradicated from our country? /



farafaf@a & & frw dord @1 g Aor @ werenr @ew w0 R a @2
1. Dengue / ?3];

2. Malaria / HeITAT

3. Encephalitis / #ATETSH eMeT

4. Poliomyelitis / QYforaY

Correct Answer :-

« Poliomyelitis / 9ferar

7) The hotness of an object can be measured by its ./
fre aeq 1 THTEe F 3WF EART ATIT ST GFHT ¢
1. volume / 3T dod

2. Temperature / dT9HTT

3. Size / TP

4. Density / Yelcd

Correct Answer :-
« Temperature / dT9HTT

8) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /
UF 93aR F qrae Mg vF gdor g1 areer dr rafer Far @2

1.0.5s

2.25s

3.1s

4.0.1s

Correct Answer :-

9) A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5
seconds. The acceleration produced in that body is: /

10 P gegATe #T T A%, 10 HeUAHhs & th A A7 F 5 AHs & Qv &
Aifasr wag & AR aifaelier 1 39 fasmr gau scumfea cavor &



1. 0.5 m/s2
2.2 m/s?
3.0m/s2
4. 50 m/s?

Correct Answer :-

e 0m/s?

10) Complete the statement with the correct option given below:

Matter is anything that .
A Ru v fwedl & & a8 RFFeT gaat Fua F OF FU
gerd @g § St

1. occupies space and has a definite mass. /

T R § 3R g v AR gegaeT gar g
2. occupies space but has no definite mass. /

TATT BT & fdhed 39T s ARTT gegdArT a8 giar &
3. exists as a solid with a definite mass. /

vs fARTT gead & A1y Tk 3 & &9 7 Al &

4, has a definite mass and a definite shape. /

U ATRTT geTATT UF Ueh ATRTd HTHR T giar &

Correct Answer :-

« occupies space and has a definite mass. /

TATH Rar ¢ 3R Saer v [fvaa gegdAeT gar gl

11) Select the appropriate metal to be used to change the colour of an aqueous solution of
CuSOy from blue to colourless along with a red brown solid getting deposited. /

Cuso4$wﬁm,mﬁma3®r$mam§m%3ﬁgaﬁamﬁmwaﬂ
A W § TR g & AT g g arell 3ugFd urg 1 a4 F

1. Silver. / DTSl
2. Gold. / &¥T



3. Mercury. / 9RT

4. Zinc. | STEAT

Correct Answer :-

o Zinc. | STEAT

12) Sharp edged metal pin will go easily into the wooden board because: /

do 4R Al urg A R Tt ¥ aE & O F gw e wifs:

1. As area of contact reduces force increases / TUh &F HA ?I?-T T o F&dl %I

2. As area of contact reduces force decreases / TUh &F A E’I?-T T ¥ HH ?ﬂT—IT %I
3. As the area of contact reduces the pressure reduces / & & HH 8 ¥ | & glal %I
4. As the area of contact reduces the pressure increases / U & HH gH I a1 dedl gl

Correct Answer :-

» As the area of contact reduces the pressure increases / U &9 HH g I a1 dedl gl

13) A screw gauge with zero correction gives the following reading when used to measure
the diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52 divisions.
Given that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter
of wire from the above data is: /

P GUR & WY TF TF A TF dX & AW N AGa F A0 39301 F o o=
w farafaf@a 8T ar &1 R amvw 8ffa = 0 @ 3k @5 79w §fFTr = 52
@s| faar wmar & 5 gEw Aw w1 1 A, 83 AT F 100 @St F e B
IRNFT Il § dR FT AW g

1.0.0052 cm / 0.0052 &
2.0.052 cm / 0.052 J&T
3.026cm / 0.26 T
4.0.52cm / 0.52 Q=Y

Correct Answer :-

« 0.052cm / 0.052 QY

14) A dull green colour coating formed when a copper vessel is exposed to moist air for
long. The green material is a mixture of: /



J9 U did FT 9T o9 AT dF 3HTe ardiaior # @dT &, df 39 W TF gL 1 T
W FH AT &1 Ig &0 9erd fFa dcal &1 v fAwor §:

1. Cu(OH), and CuO / Cu(OH), Td CuO

2. Cu(OH), and CuCO;3 / Cu(OH), Td CuCO4
3. Cu(OH), and Cu,O / Cu(OH), Td Cu,O

4. CuO and CuCO5 / CuO T CuCOs

Correct Answer :-

« Cu(OH), and CuCO; / Cu(OH), Td CuCO;

15) Choose the incorrect property about colloids. /
FIAES F RS JUTA FT TIT T
1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

PIATSST & HUT dd deh gl AT 8, o do (& 3eg T T8l D5 &A1 JATm §,
T FHieTsseT el sy &R g &1

2. Colloidal particles are not visible to the naked eye. /

PSS HUT ATHGT @ Hl @S =7gT e &

3. The size of colloidal particles lies in the range 1077 —107 cm /
PSSl U T SR 1077 —107 FHT. ST TAT F 8 &l
4, A colloidal solution is homogeneous in nature /

Teh Hlorsse [Ferded YHfd # Gl g gl

Correct Answer :-

« A colloidal solution is homogeneous in nature /

U Hle5sel fAerdeT Yhfd 7 FAT g B

16) Identify an isotope used as a tracer to detect the blood clot in human body /

AT IR A Fd & gFd F Id1 WA § AT 06 W0 & § § 9g+d g ard
F GAEYAF A ggET F

1. Uranium — 235 / ZB'%F’JDT - 235
2. Todine -131 / 3mAET - 131



3. Sodium — 24 / |IfgIH - 24
4. Cobalt — 60 / &IdTee - 60

Correct Answer :-

« Sodium —24 / @fzIH - 24

17) The product formed when iron reacts with steam is /
e 3R arsT FAMBFAT F g9 g I §:

1. FeO

2. FeH

3. Fe;03
4. Fe304

Correct Answer :-

J Fe304

18) The role of decomposers in the ecosystem is /
uiRfeafad a9 # srquesi i qfFFT Ot &
1. They do not act on organic compounds. / Fafoeh RN T HI 6T I

2. To convert inorganic materials into simple forms. / 3FETAe Yerdt & T Far |
aRafdd &

3. To convert organic materials into inorganic forms. / Fefeeh geraf T dhefIe ®AT &
aRafdd el

4. To convert inorganic materials into organic compounds. / JFIEAS Terf &l Hrefew At
gRafdd HAT

Correct Answer :-

« To convert organic materials into inorganic forms. / &Tafeleh J&rdt HI hIeTeich FaT
aRafdd s

19) The lightning arrester helps: /
dafsa(emsefaT) dus fAra & #Age Far &

1. To store the electric charges at the time of lightning /



afsa & axg fegd 3maelt & F@Ida H¥e 7|
2. Dissipate the electric charges in to the atmosphere /

faega 3Taed dlgd-iSoi H BIsd H|

3. Avoid the production charges on the clouds /

Sl # 39T & 3culed & §9 H |

4. To transfer the electric charges to the ground /
faega mat & A F TR e A
Correct Answer :-

« To transfer the electric charges to the ground /

faega smast A fA 7 TAEART e A

20) How much electrical energy in kilowatt hours is consumed in operating ten Swatt bulbs
for 10 hours per day in a month of 30 days? /

30 =t & v A H ufed & 10 o & fAv 5 € & g@ Fedl & AR A
fretare wel # fFadt fgga sat # @ua gid 82

1. 15 kWh

2. 150 kwh

3. 15000 kWh
4, 1500 kWh

Correct Answer :-

« 15kWh

21) Calculate the formula unit mass of MgS04.7H,0O
[Atomic masses: Mg=24u,S=32u,0=16u, H=1u] /
MgSO4.7TH,0 & HA SHIS GeqAT T A0 HY:
[QWTU:_I; GcdATT: Mg=24u,S=32u,0=16u, H=1 u]
1.286u

2.232u

3.246u

4. 198 u



Correct Answer :-

e 2461

22) A bullet just sticks on a fixed wooden board when it is fired from a gun. The Kinetic
energy of the bullet is mainly converted in to /

do@ & N g I T oF PRE o & At o el g e ¥ aveh A
afasr Fot AET ¥ F s aRafda & ol

1. Only Heat energy / hdel ZSHAT Foll
2. Kinetic energy for the wooden board / T3l & &1 & faT a1fast Far
3. Only Sound energy / Fdd &afa Fall

4. Sound and heat energy both / a1 3R ST ol gl

Correct Answer :-

« Sound and heat energy both / €3 3R ST SHoll g

23) Ina sunny day, when the atmospheric temperature is 379C, the temperature inside a
car, which is parked on an open ground is: /

UF 4T o R 7, 79 argese e 37° afwww @ @ o SR F e 1
AAT, St g A H @ 3, AT g

1. Greater than or equal to 370C /37°C & &R AT AR™H
2. Equal t037°C /37°C & ST}

3. Always greater than 37°C /370C & 31f&&

4. Less than 370C / 370C 9 &

Correct Answer :-

« Always greater than 37°C / 379C & 318

24) In a filament bulb the electrical energy is converted into: /
% fhamic doq (A9 aew) # fagga st #t sud aRafda frar srar @

1. Chemical energy / JETITAS ol

2. Only heat energy / shdel FSAT Fall

3. Only light energy / hdel JehT il



4. Light and heat energy both / J&rTel 3{X FsAT FaT gt

Correct Answer :-

« Light and heat energy both / JehIeT 3R FSAT FaiT el

25) What is the valency of Carbon in Methane? /

MANAT F FEaT A FATHAT fhasr 82

1. Valency of C=2 / C &I TdIsTehdl = 2
2. Valency of C=1 / C @I HIISTehdl = 1
3. Valency of C=4 / C &T HIIelehdT = 4
4. Valency of C=3 / C &I @IISTehal = 3

Correct Answer :-

« Valency of C=4 / C & TArslehdT = 4

26) Which among the following is a mixed anhydride? /
ffaf@a & @ 791 v AfAT veeEsEs 2

1. CO,

2. N,0s5

3. 50,

4.NO,

Correct Answer :-

. NO,

27) Which of the following is not a control measure for the storage of grains? /
farafaf@a & & Fa1 e ssRor F faw AEer sury A4 82

1. Chemical method / Tr&@AfAs fafer

2. Fumigation / ﬂf—ﬂ'

3. Plant products like mineral oils / @felol del SI¥ 96T 3cUTg

4. Cultural method / W fafer



Correct Answer :-

o Cultural method / '\‘:l'l?:fﬁﬁ? ey

28) Which of the following is a biotic component? /
farafaf@a & ¥ sla-w = faF gew B

L Air/4drg

2. Water / STel

3. Soil / TAEET
4. Living things / Sitfdd a¥U

Correct Answer :-

« Living things / Siifdd a¥¢

29) Which of the following is a chemical effect of electric current: /
faeT & & 71 Rega yare 1 wwfas wme &

1. Producing a magnet using electric current /

faegd varg &1 39N FF Teh Ioeh IcTeed el
2. Producing heat in an electric kettle /

U Solfdcah hdell H AT 3c9oed el

3. Producing light using electric bulb /

TSoTell & Jod &l 3IUART T YRl 3cleol el

4. Production of Hy and Oy by passing current through water /

T ¥ YRT UdTfed B Hy 3R 05 P I HAT

Correct Answer :-

» Production of Hy and Oy by passing current through water /

U @ 4RT Ua1fed B Hy 3R O, BT TG HRAT

30) Name the property of the components used for separating salt and camphor. /
dAF I FR F HAT T F AT 23w FY I arer gt F aorest qasd|
1. Using separating funnel /t[?JTﬁh"lff T FT gAET



2. Magnetic separation / tj;slcr?lu JdFh U]
3. Sedimentation / 31ddTcel
4. Sublimation / F&d9TdleT

Correct Answer :-

« Sublimation / F&JUTdl

31) Discoveries, inventions, laws, theories are all related to the ./
e, anfasar, s, Rigeaia waf q gafta g

1. ease in daily living / &fae S & 3mgm=T

2. study of science / faaTeT T 3T

3. luxuries of life / Sfiael & quardgeT

4. satisfying human curiosity ; HHar forgman Cal| arjg DAl

Correct Answer :-

. study of science / Ta3TeT &T 3ETIA

32) Not only formative but also summative assessment can be conducted
through: /

T Fad fAAvTcAS, sfed Aeneas sraas it AT & Areaw @
HTferd AT ST GhdT &

1. Homework / ?QIEEFRSF

2. Question and answer sessions / 927 3R 3dY T

3. Projects / IRIATSTITAT

4. Self-evaluation of teachers / TR1&Tepl &1 Q-_Q’-sz\ﬁl'iila—o-f

Correct Answer :-

. Projects / IRITSTATI

33) The drawback of Case Study method is that it does not lead to a: / d-
T R F1w g F a7 yars Ag1 HLCr g

1. Generalization / GTHTITRIOT



2. Conclusion / IGA=AN)
3. Categorization / G3Tfen0T
4. Assimilation / TcHHATAHhIOT

Correct Answer :-

. Generalization / GTHTATRIOT

34) Which of the following is not a feature of Continuous and Comprehensive
Evaluation (CCE)? / feaifaf@a & & #la WY waa va s Aeaiwa
(T E) Hr fdvar 78 &2

1. It helps the teacher to learn about the existing concepts of students. / Ig STAL el
AT 3URON3T & dR H AT A fRAaTw H G Fwdr gl

2. It involves more frequent tests and examinations. / SHH AR TLIETOT 3R
gdieTe FiFATd gidr gl

3. It involves repeated assessment of the same parameter. / 9 Teh &I HIGUS
T SR-SR 3ehelel ATEATd BT &l

4.t is a school-based evaluation. / g Teh facATerT-3meTiRd H\WIW gl

Correct Answer :-

. It involves more frequent tests and examinations. / 39H oFITdR YI&TOT 3R
wfieTe afFEAfad giar €

35) Which of the following is not a scientific question? / RFafaf@a & & =
a1 v denfaw v AE §?

1. What is the density of water? / 9Teil &l Helcd Tohdall &?

2. Why can we not see in the dark? / §H I H FAT AGl ¢ Thd g7
3. What is meant by a secular republic? / ﬂﬁﬁ?ﬁ&[ OIS b1 T 31ef %?

4. Why is the colour of sky blue? / STDHIR] h 7 e i %?

Correct Answer :-

« What is meant by a secular republic? / ﬂﬁﬁ?ﬁ&‘[ TTOTAH T 3ref %?



36) A formal event where multiple experts deliver their speeches is known
as ./ T I geaT JEr FF RQAvT 39 Hwor 29 &,
¥ # AT ST B

1. Laboratory / ST
2. Symposium / FINSEr
3. Exposition / 9&T=AT

4. Workshop / TR

Correct Answer :-

. Symposium / IS

37) What is the name of the satellite that was placed in the geostationary
orbit specifically for increasing television-based education in India? / 3 3UUg HI dAH

w1 8, o URa # eefifasH1-snuia fRien «1 geM & e faviv wu & yxAfas sen
o ¥@1 14T UT?

1. ERS2
2. EDUSAT
3. TechEdSat

4, ATS-6

Correct Answer :-

« EDUSAT

38) What is meant by intervarietal hybridisation? /
srerfafder Faor F1 F4T I3 Far @7
1. Crossing between different varieties of plants. /
giet & [AfFeT vpR & g JHar (Haa)
2. Crossing between different genera. /
e gonfa & ST gHear (ifaa)
3. Crossing between genetically dissimilar plants. /
IaifAeh & & et ol & dr deapar (ifda)

4. Crossing between two different species of the same genus. /



T & 92 & & fAeeT genfaal & g gear (rae)

Correct Answer :-

» Crossing between different varieties of plants. /

gie} & RAffed ypR & &I Gar (Hifa)

39) Assessment standards are required to provide effective science education for all. To
assess teaching of science by science teachers in a classroom, which of the following

is NOT applicable?/Wﬁ%ﬁ?ﬂ%ﬁﬁﬂﬁﬂﬁﬁﬁ%m3'|'.|3)_Q‘F'T
HFD! BT ATTIDAT Bidt &1 Fam & fagra et grRT fag= & Rramor &1
Jiwpa B & forg, FafefEa o 3 o9 a1 Suyged 781 82

1. Parents’ view of the teacher. / f8Teh & ATAT-TIAT T TTSEHIUT|

2. Performance report of the students in the subject. / QYT 7 sEr fr ged=
Rare|

3. Students’ feedback on the teacher. / f18Teh 9X TEAT T UTaTshaT|

4. Other school’s opinion of the science teacher. / 3 ﬁ?@l’l?vl’iﬁ $r fameT
feTs & IRk H [T

Correct Answer :-

« Other school’s opinion of the science teacher. / 3= ﬁ?@l‘l?»l’éﬁ $r faareT
freTs & IR A |

40) The factor that does not influence the formation of winds is: /

arg fmtor &Y gurfaa 1 s+ arar sRe = 8
1. Presence of mountain ranges / qad W Fr 3utEAata
2. Presence of seas and oceans / 'H?fl;;ﬂ 3R ﬂ%‘l'\q'l?lfl' $r 3uTeufa

3. Uneven heating of the atmosphere in different regions of the earth / CB«T:\T & faffes a3t A
drdraxoT ol 3THHATT dlYeT

4. Rotation of the earth / G2dT @T EoTel

Correct Answer :-

« Presence of seas and oceans / ?DI;'\T 3R Fl%'R:l'l?lff $r sufEafa

41) When a force of 1000N is applied on a particular surface the pressure acting on that
surface is found to be 10 Pa, then the area of the surface over which the force is applied



is /

9 {5t faRIv Wd8 IR 1000 I T I@ YANT g7 § °f 39 Tag W @+ 9191 <419 10 Pa TR
1T 8, @ 96 YN 9dg T &A% d [ba- 3:

1.0.001 m?
2. 1000 m?
3.100 m?
4.10 m?

Correct Answer :-

« 100 m?

42) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s
respectively. Which of the two objects have the same speed? /

IR a¥g3il P, Q, R U4 S Ft ifa u=r: 10 /R, 36 frft/wer, 18fpiit/ger ik 30tit/4 81 fb
3! aegai @ fe JH 82

1.RandS / R Td S
2.PandR / P Td R
3.PandQ / P TT Q
4.QandS / Q UT S
Correct Answer :-

« PandQ / P TF Q

43) How many times the bob of the oscillating pendulum crosses the mean position in 20
oscillations?/

I Ugad @ aiq fHa-it IR 20 e | Arer fRATT &1 UR Fdl 82
1. 10
2.20
3. 40

4. 60

Correct Answer :-



44) A ball is dropped from a height of 100m. Find the time taken by it to reach the
ground. (g =10m/s2)/

T ¢ 100 W Y FHars | FRTE oelt |1 g & Y 996 ugeq & fva=r awa @i (g = 10m/s?)
. 2+/55s

5425

3. 20s

4, 25s

Correct Answer :-

45) Amount of energy transferred from one trophic level to the next is /

TH IS WR F 3T NS WR d VMR SHoll SIAFT gt 3
1. 5%
2. 20%
3. 15%

4. 10%

Correct Answer :-

e 10%

46) The acid present in Rancid butter /
faea 1 HeRaw & SufRud s gaT @

1. Butyric acid / @t\ﬁﬁiﬁ &l

2. Acetic acid / TfAfew 3Fa

3. Lactic acid / eifdeeh 31Fa

4. Formic acid / BIfHeh 37FeT

Correct Answer :-

 Butyric acid / sZI(\iEiQEF &l

47) In an electric motor, the energy transformation is from: /



Tw fagga Aiex #, Sul uikad= a1 g1 &:

1. Magnetic energy into electrical energy / ?-IQE@I'J ol ol ﬁ?{{ﬁ Foll &
2. Mechanical energy into electrical energy/ZlTﬁEF ol &l ﬁ?\:{ﬁ Sl &
3. Electrical energy into magnetic energy / fagdd Sl T JE® 1T Soll &

4. Electrical energy into mechanical energy / faggd ol &1 gifde® SHoif d

Correct Answer :-

« Electrical energy into mechanical energy / faggd Sl &1 TifA® ol &

48) Which one of the features mentioned below about decomposers is not applicable to
decomposers? /

IUUCHF JuAF ot g § AR T g F A A B
1. They transfer energy to the next trophic level in the food chain. /

d @ieg Aol # 39T GifSeehcl TR W Foll FAGATART A &

2. They are also called as saprophytes or reducers /

3o¢ Hcolldl a1 TEeheh Y gl ST Bl
3. Decomposers are also scavengers and they clean the earth. /

Hueee ATl o gl § AR 3 gl & 9 A Bl

4. They help in recycling nutrients. /

d 9Iveh GALEhUT H Heg A o

Correct Answer :-

 They transfer energy to the next trophic level in the food chain. /

d @ieg Aol # 39T GifSeehcl TR W Foll FAGAART A &

49) Which of the following is not a child-centred classroom? / fafeafed & 9 #19-A

A-Bfsd BT T8l 82

1. Teachers promote collaboration in learning / V&t 3189 & TG &r
derar ¢ &

2. The teacher is a facilitator instead of an instructor / T&Teh Teh YfAeTH &
gollT TUeh JH-aIH gl

3. The teacher decides content, instruction method and assessments / freTn

gralt, der [J3fY 3t a1 vk sar &



4. The students have a choice to pick assignments and decide assessment criteria /

oAl & UM IASAHAC Iolel A Hedichel HAGIGS T el HT fdehed g

Correct Answer :-

. The teacher decides content, instruction method and assessments / f1&6Ten

aral, e /3 3t meesr &1 Aot a=ar gl

50) Which of the following wastes is not bio degradable? /
Frafaf@a & @ $1-ur sufkre Jq g a1 Ja sawiha T8 32
1. Vegetable peel / Tfeotal & f&elch

2. Milk sachets / g¥ % e

3. Cow dung / TT1d &1 &R

4. News paper / 3T&GdR

Correct Answer :-

« Milk sachets / g4 & e

51) Which of the following learning approach is considered to be a derivative of the

Ausubelian approach? / ﬁ'ﬁﬁf@a | o qr fETH E@ﬂ”ﬁ'UT, Gﬁ-\ﬂam:[
TSI BT Sgead HIHT 1T 82

1. Experiential learning / 3{eJ3TdTcH 3TETH

2. Collaborative learning approach / eAHMcHS 3TUTH TTocahIv]
3. Analogy strategy / TTE2T 0TIl
4. Concept mapping / i?la\‘?-llo-?-l HATA =0T

Correct Answer :-

. Concept mapping / i?la\ﬂlo-a HATA =0T

52) Which of the following can help the students to learn science through kinesthetic

movements?/ﬁﬂﬁ'@ﬂﬁ@ﬁqwaﬁmﬁméﬁa?mmﬁmﬁmﬁ
H Heg B Ghdl 8?2

1. Written test / foT@d 9ayeTr
2. Debate / aTe-Tadle



3. Drama / &lceh
4. Quiz / T

Correct Answer :-

« Drama / «Iceh

53) If an object is kept in between the principal focus and the centre of curvature of a
concave mirror, then the nature of the image will be: /

gfe fFdt avg &) Y1 Biey 3R 3radd vl & awmhal & Hg | @1 ordl 8, o Sfa 3 upfa i
1. Real, enlarged and inverted /a'lﬁﬁEF, FfAafa wa 3
2. virtual, diminished and erect / 3737, Fl?ljﬁ?f Ug Erefr

3. Real, diminished and inverted / dEdidesh, Thfdd TT 3ol

o]

4. Real, diminished and erect/ arfde, Tpfad T4 Hieht

Correct Answer :-

« Real, enlarged and inverted / aEdTdeh, 3TRAFIT T 3

54) People of different age groups need different amount of sleep. Who among the
following needs more sleep? /

faftr omg a7t & @il 1 SreT-3renT | § Hig 3t smazawan gidl 31 fufuafaa 7 | f5a e
B! gad 3P Seed gt 2

1. Child / sl
2. Infant / f‘@f?j

3. Man /ERW
4. Woman / &fgeT

Correct Answer :-
e Infant/ f‘\ﬁ%g

55) The force of 100N is acting normally on a surface of 2.5 m2. The pressure acting on
that surface is: /

2.5 m2 91 TP Idg UR JMHd: 100 N BT 9 TIT SITdT 2 | g UR o 91T ¢a1d &8:
1. 400 N/m?

2. 40 N/m?



3.4 N/m?
4. 250 N/m?

Correct Answer :-

e 40 N/m?

56) A teacher is trying to nurture an aesthetic sense in his students, he should

encourage them to: / T RY&TF gt @] H Fligdaaw FT N9or F A
FIFAA FT @ &, 39 308 NeARRd FIT AIRT

1. Investigate ideas / T9TRT & ST &Y
2. Development of models of inquiry / ST & Ifd#Te (Al &I [awfAd HLl

3. Observe phenomenon keenly / ©1cal &l 3cqhdl ¥ |

4. Frame questions / 3 92T IR H|

Correct Answer :-

. Observe phenomenon keenly / €T Sl 3cgehdl q gl

57) Which of the following would not promote active discussion? / A& f@d
A ¥ #i gy ==t & ge@r A game

1. Selecting topics from upcoming tests. / 3TIMHT TAETON § fAwAT F1 It
|

2. Summarizing ideas with the help of learners at the end of a discussion. / T &
Hd H Rt S #gdr @ [99Rt S IRk S

3. Acknowledging learners for responses. / Ifdfshar & forw Rrenfdar #r
TAIhR =T

4. Encouraging questions as well as responses to each other’s questions. / GaTell hl

WA AT U AT & Th-g@Y & Y&l & Sfare e
Correct Answer :-

. Selecting topics from upcoming tests. / 3TIMHT TLETON fawar &1 g9
|



Which of the following statements is false with respect to scientific theories? /

defas Rgual & geu & Arafaf@a & ¥ sla &1 Fua1 7007 &2
1. A theory must be tested with rigour. / Tch Iri-lc&k‘l D[ €odl & Y tIﬁ&‘l'UT IERIRSIG

Bl

2. Theories must follow observations. / @EETIFIT I F&TUT T UToled hiaAT
] i%Q |

3. Theories may be expressed as an equation. / ﬁlﬁﬁl’l?—ﬁ Pl Teh HPOT & &Y
H =gad fam o1 vt gl

4. Predictions of theories must be reproducible. / i{b-lafélllo-a I &7 Jiasgariorar
HART T F JeA®cUIeeA1T glell ARV

Correct Answer :-

« Theories must follow observations. / ﬁlﬁﬁl’l?—ﬁ I YIUT &Rl UTolel Shiedl
pIY

59) A scientific theory cannot be expected to: / T&h dlfaie Ryt & 3rdam
sTel &1 ST "t T -

1. Predict all outcomes / THT IROUTHAT AT q@ﬁ?ﬁm T |
2. Resist falsification / 3 0cTehI0T T AU &Y

3. Receive questioning / T2=AT @l 9T |

4. Change with time / IHT & ATY ol

Correct Answer :-

+ Predict all outcomes / G8fT TRUTAT T qaTTAT oo |

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land
infertile. What substance is generally added to the soil to neutralize this effect? /

FR & TRfAE 3RFT F A @ §F Bed sl @idr ¥ aur 4 seuens @
AT Bl 3 9N B I A F QAU gweaa: R et @ Red § e
ST 82

1. NaOH

2. Mg(OH),



3. N212CO3
4. CaO

Correct Answer :-

« CaO



